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(a) What is macroeconomics? Explain major issues of

macroeconomlcs.

(b) What are the differences between Keynesian and

classical approaches? ( 10,8)

(c') wk a{rns wr t? Tck sft'€ * c5€ CA *
qrqr dBqr

(u) diRa-< Bfu rrrdc gFffi d fi-q wt wo-t i?

What are the three methods of measuring national

income? How are the three methods of measuring

national income reconciled? Explain. (18)
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8. Write short notes on any three :- (6x3)

(a) Balanced budget multiPlier

(b) Keynes psychological law of consumption

(c) Crowding out

(d) Monetary policy tools
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where C is Consumption, Yd is Disposable income, T

is Lumpsum tax, I is investment, i is interest rate, G

is autonomous Government Expenditure, L is Real

Money Demand, M/P is Real Money Supply.

(a) Find the equation of the IS curve.

(b) Find the Equation of the LM curve.

(c) Find the equilibrium level of output and the rate of

interest. G,6,6)

cr{ afrs,

c=600+0.80yd

r : 1500

T = 1000

G = 1000

L:0.20y-100i

qS+ in+ rrv* * fi-{ nQ+ wr i? rrElc ilc crc+ + fi-{

HH t qrrtrs *+ ftqr qrdr +? qrcqr dftrql

(a) What is money ? What are its functions?

Explain. (10)

(b) Explain the process of credit creation in a single

banking system. (8)

(q) g-n Hr l? Es+ cr{ wr ii qrer fr&qr

(u) gov ffinr xune i aor gu-t d vB'qr fr qr@r

frfrsr

(a) What is the Multiplier? How does the value of the

multiplier depend upon the marginal propensity to

consume? (10)
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(b) How does an increase in government spending and

taxes affect the multiplier? Explain. (8)

(m) gsr+' wr *? {um qr Ts frqrd sc+rr l-gfr qt 4+

n*t qrm *?

(e) rrtott qc ft d + gR n"m A d+ nqrRc q.tfr

l? qrsr 6frql

(a) Explain the effect of an expansionary fiscal policy

on the equilibrium level of income and interest

rate. ( 10)

(b) Distinguish between budget surplus and full

employment budget surplus, which one is a more

useful measure. (8)

(t,) sro *r qrs qt * <ga't m< qr frRrc{rfi {rsdfrq

ffi * wrs fr an<aqr dfrqr
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(u) a-rc flmc ft {d +srrR c-trc ffis + frs ffir

d&s, 6t{-{r scrq ilfrn gq+fr *r

What is an IS curve? How can we derive it? What

are the factors that determine the slope of the IS

curve? ( 18)

sdw qo qr *? Ec Et d'* yrq m ro* *? in{w qm
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7. Suppose,

C:600 + 0.80yd

I = 1500

T = 1000

G: 1000

L - 0.20y l00i
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